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1 PHASE BUSBAR

16mm? for 115A

99 mm (3.90 in.) 15.5 mm
UL489 recognized (0.611n.) —
£305318 E=
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5mm (0.201in.) 1.5mm oy
No. of Length 17.6 mm (0.69 in.) ©08in)— 5o
Pins [mm] 17x176=88mm- max. 15mm—- 2 &
(3.461n.) (0.061n.)
204.6 mm (8.06 in.) 15.5 mm —
(0.611in.) -
£ ¢
UL489 recognized E 3
£305318 D=
5mm (0.20 in.) 1.5mm £
17.6 mm (0.69 in.) —t 008in)—r &
No. of Length 17x17.6 = 193.6 mm max. 15mm L 2 g
Pins [mm] (7.62in.) (0.061n)
15.5 mm £ =
310.2 (12.211n.) 061in)1— o B
UL489 recognized Lo
£305318
C€ 5mm (0.20in) 1.5mm L
17, 69 in. 0.06 in. =
6 mm (069 n) 17X 17.6=299.2 max(1 5n']r,'n) &2
No. of Length (11.781n.) v s
Pins [mm] (0.061in.)

ACCESSORIES

Type/Cat. No:

Example for different No. of Pins
eg. 44 pins use 1x 1P16UL3/12 + 2x 1P16UL3/18

Busbars backwards ———
to one another

* No. of overlapping pins of 2 busbars must be a multiplier of the No. of phases

» Overlapping busbars are backwards to each other

P35ULT P50ULB

BRUL (3 per strip)




